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25. Consider the function f(x) = x® + ;15 Which of the following statement is correct?
A. max f(x) =2, min f(x) = -2
B. max f(x) = =2, minf(x) =2
C. max f(x) = c0o min f(x) = —o0
D. All are incorrect

Questions 26 to 30 are based on the following passage. Read the passage carefully to
answer the questions

Technological Progress and Economic Growth

Economic growth refers to growth in GDP per person and hence it depends on
the growth rates of aggregate GDP and population. Higher economic growth
over a long period is essential for a poor country to get out of massive poverty.
Technological progress is considered to be the source of long run economic growth.
Without technological progress, growth will stop after some time due to the
operation of diminishing returns in the accumulation of factors of production such
as physical and human capital. Technological progress helps to produce more
output from a given level of inputs. Thus it enhances factors’ productivity and
thereby their rewards. This stimulates further factor accumulation. Technological
progress, thus, contributes to growth in GDP directly as well as indirectly by
incentivising investment in human and physical capital.

Technology refers to the set of knowledge used for combining raw materials
for producing output, and technological progress means improvement in this
set of knowledge. Two important features of technological knowledge, namely
non-rivalry and partial excludability, is relevant in this context. Non-rivalry of
knowledge means that same set of knowledge can be simultaneously used in
several locations, i.e use of knowledge by one person in no way prevents it's
use by others. Knowledge is also an input into the production of knowledge as
research labs use existing stock of knowledge in a particular field to produce new
knowledge in that field. Partial excludability refers to the free use of existing
stock of knowledge in research labs for producing new knowledge, though their
commercial application may be restricted by the patent right. These two features
of knowledge have important implications for the growth theory. First, it generates
knowledge spillovers, a positive externality in which creation of knowledge by
one person also benefits others for which they do not make any payment. Second
knowledge can be accumulated without any bound. This implies that any chemical
principle will remain there even afer the death of the chemist who invented it,
though the skill set as a chemist will not. These two features of knowledge
suggest that a scientist working in the research lab has access to ever increasing
, stock of knowledge, which increases his/her productivity. This ever increasing
productivity in research labs, it is argued, maintains the private incentive to invest
in R&D. This in turn sustains technological progress and thereby economic growth.
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26.

27.

28,

29.

30.

In 2015-16 GDP of country A grew by 10% and population by 2.5%, then the per
capital GDP growth rate is St

A. 7.5%
B. 10%
C. 12.5%
D. 5%

Technological progress sustains long-run economic growth by
A. increasing the demand
B. preventing the operation of diminishing returns to factor accumulation
C. increasing the rate of profit
D. decreasing the rate of depreciation

A scientist working today is more productive than one working 100 years ago,
because of

A. access to greater stock of knowledge.
B. better education.
C. higher remuneration.

D. access to Internet.

Non-rival nature of knowledge implies that opportunity cost of knowledge is
A. Zero
B. Value of next best alternative foregone.
C. Value of output foregone
D. Value of output produced.

Incentive to private investment in R&D is maintained because
A. Economy is growing faster
B. Investment in R&D is increasing
C. Productivity of scientists is increasing

D. Supply of scientists is increasing

Questions 31 to 35 are based on the following passage. Read the passage carefully to
answer the questions

Economic Growth and Demographic Transition

A major part of the economic history of the world is characterised by Malthusian
stagnation - a long phase during which growth rate of income per capita was
Slmost zero. During this phase resources available per person remained almost
constant because whenever there was an expansion of resources, due to techno-
logical progress or discovery of more fertile land, that was offset by increased
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population. However, during the last two centuries, with the advent of industrial
revolution, the pace of technological progress increased significantly, allowing
a positive growth in income per capita. Various regions of the world departed
from the Malthusian trap and experienced a considerable rise in the growth rate
of income per capita. Later, industrial revolution generated demand for skilled
labour and the increased role for human capital in the production process brought
about demographic transition, resulting in significant reduction in population
growth.

Demographic transition occurred with a sharp reduction in fertility rate, occured
simultaneously in several countries in the 1870s. The decline in the infant and
child mortality rates has been a dominant explanation for the declining fertility
rate in many developed countries, with notable exception of France and United
States. However, this view appears to be inconsistent with historical evidence. The
mortality decline in Western Europe started nearly a century before the decline in
fertility and was associated initially with increasing fertility rates in some countries
(e.g. England) and non-decreasing fertility rate in others.

Another explanation for the demographic transition is the rise in income, an
outcome of higher econoic grwoth. The argument is the negative substitution
effect of income increase outweighed its positive income effect, resulting in a net
decline in fertility rate. The negative substitution effect was dominant due to the
incresed opportunity cost of child-rearing. The factors contributed to the increased
opportunity cost of child-rearing include greater labour market opportunities
owning to industrial revolution, higher income due increased productivity - an
outcome of technological progress, and reduction in the male-female wage gap.
Further, it is also argued that income elasticity with respect to child quality
(education level) is greater than that with respect to child quantity, and hence a
rise in income led to a decline in fertility rate along with rise in investment in each
child.

Thus the gains in productivity due to technological progress and increased accu-
mulation of human capital were thus liberated from the counterbalancing effect of
population growth. This paved the way for the emergence of modern sustained
economic growth. However, the timing and pace of industrial expansion and
demographic transition varied significantly across regions, resulting in significant
income differences among regions over time.
31. According to the passage, the reason for the Malthusian trap is:

A. Absence of technological progress

B. Absence of fertile land

C. Resource expansion offset by population growth

D. High population growth
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32.

33

34-

35

During the post Malthusian phase, income per capita recorded sustained growth
because of

A. higher technological progress offset the impact of population growth

B. slower population growth

C. higher technological progress and population growth

D. none of the above.
Which of the following per se cannot be a reason for the increased opportunity
cost of child-rearing during the post Malthusian era.

A. Increased demand for labour

B. Higher productivity due to technological progress

C. Reduction female-male wage gap

D. Higher per capita income.
According to the passage, during the Malthusian phase a society having higher
level of technological progress ultimately ended up in:

A. Greater population

B. Higher level of income

C. Become more developed

D. None of the above

Positive income effect of higher income on fertility include
A. More resources to take care of more children
B. More resources to educate children
C. More resources to parental consumption
D. None of the above.

Questions 36 to 40 are based on the Table 1. Read the Table carefully to answer the
questions

Trade between India and ASEAN

Table 1: India’s Trade Balance (in 1000 US$) with ASEAN Member Countries

| Year | Brunei | Cambodia | Indonesia | Lao | Malaysia | Myanmar | Philippines | Singapore | Thailand | Vietnam |

2004 | 4501 _ | 16519 -1222071 | 861 -1174279 | -297987 200417 940664 106679 461638

2005 | 3563 + | 20026 -1621921 | 6467 -1202049 | -371915 278014 2268690 -137332 | 506087

2006 | -181257 | 46607 -1700874 | 1985 3324546 | -578610 | 388068 947398 -199801 | 714271

2007 | -225279 | 43582 -2881320 | 2859 -3870036 | -646310 397876 -496687 -518462 | 1088343
2008 | -308707 | 49583 -3752452 | 4066 -4418629 | -66B934 | 527386 574903 -651830 | 1441002
2009 | -463735 | 37819 -4546962 | 26725 | -1465555 | -973642 | 354348 724960 -1065079 | 1390595
2010 | -185891 | 53408 -5118069 |-11937 | -2410137 | -B49568 407164 1859952 -1780577 | 1517780
2011 | 165679 | 81160 -7508199 | -56204 | -5139810 -806185 556342 7671462 -2191866 | 1953100
2012 | 905862 | 99956 7877162 | -116420 | -6547839 | 819333 | 629010 6399337 | -1914451 | 1712675
2013 | 4725811 | 123971 -9405830 | -50019 | -3790970 | -623371 1065262 7256897 -1245210 | 3160946
2014 | -goo174 | 137640 -10740124 | 3985 -6261911 | -524224 1036219 2676250 -2242417 | 3745464
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assaulting partners. It also has implications for the judiciary and child protection
services as they need to understand that women are trying to protect their children
from abuse and the circumstances in which this violence occurs should be taken
into account. The health outcomes for women and men in violent relationships
are distinctly gendered as women are more likely to suffer from adverse health
outcomes as compared to men. The premise that women are as violent as men
contradicts the fact that in every other arena of society male violence is dominant.
Gender symmetry is a fallacious assumption that could impede the development
of a policy response to gender based violence.

41. Why is it a misconception that there is symmetry of violence between men and
women?
A. Politicians, journalists and men’s rights groups promote the view

B. Violence between men and women is structured by unequal social rela-
tions

C. Men are naturally more violent than women
D. Because women are involved in child care and they are unable to retaliate
42. Why does the assumption of ‘gender symmetry” hinder an effective response to
gender based violence?
A. Tt suggests that gender is not the root cause of the violence
B. It leads to incarceration of women for violence they did not commit

C. It is supported by powerful interests groups such as politicians, journalist
and men’s rights groups

D. Because it pits men against women and brings more violence against
women
43. Why do the judiciary and child protection services need to understand the circum-
stances in which violence occurs?

A. The circumstances would show that women and men are equally power-
ful in families

B. They would reveal that all gender based violence is enacted by men
against children

C. They would reveal the individual / personal factors leading to violence

D. They would help understand the social determinants of violence
44. Why do men’s groups want to claim more rights for men?

A. There has been a gradual erosion of men’s legitimate rights in society
B. They want to correct an imbalance gender based power in society
C. They seek to protect the gender based power of men in society

. D. Because men are increasingly becoming victims of violence by women
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45. Why are women more likely than men to suffer from adverse health outcomes as
a result of violent relationships?

A. Women are too weak to be able to inflict any major injuries on men

B. Women are economically dependent on men and hence they fear seeking
help

C. The systemic nature of violence weakens women's ability to respond and
protect themselves

D. Women are less healthy than men and violence worsens their health
conditions

Questions 46 to 50 are based on the following passage. Read the passage carefully to
answer the questions

Primitive Accumulation

Primitive accumulation as defined by Marx is the historic pre-condition of cap-
italism, a process by which the producer is separated from his/her means of
production. This process leads to the condition of double freedom which is nec-
essary for capitalistic production - workers are free to sell their labour power
and also free from their mode of production. Although Marx draws this concept
from the Enclosure movement in Europe, he does not dismiss the idea that this
expropriation assumes different aspects in different countries, and runs through its
various phases in different successions, and at different historical periods. Byres
argues that primitive accumulation can be understood through two interrelated
movements within an overall process: on the one hand, a transfer of assets (land,
machinery, money etc) by non-market means from non-capitalists to potentially
capitalist classes with state mediation. One the other hand, it refers to the separa-
tion of independent peasants and artisans from their land and means of production
to create a mass of people unable to reproduce themselves without selling their
labour-power. In India, the historical process of primitive accumulation began with
the advent of British colonizers. In the pretext of direct taxation, they mobilized
peasants to work for their cash crop growing plantations. Post-independence,
the expropriation was carried out mainly through state intervention in the form
of land acquisition for industries, mining, conservation of forests and natural
resources resulting in a landless gentry without sufficient compensation disposed
to work as wage labourers which was mainly informal in nature. Immediately
after independence, agriculture was given a lot of priority and the foremost objec-
tive was land redistribution from landed class to the landless people through the
land reforms act. However, rural India is characterized semi-feudal relations of
production owing to the inter-linkages among the land, labour and credit market.
This rendered the land reforms ineffective for the country as a whole. Due to high
inter-linkages and inability to access formal loans from the banks by small and
marginal farmers, the land remained as a mortgage to the erstwhile landlords in
lieu of credit. This resulted in a vicious cycle of usury and exploitation. Even
today, the inequality in land holdings is very high in India.
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